NULL)

weight + predict(m4a.3, marginal

0510 20

| 42 48 B

— © S

— °°°°° oogo -

Yt oo®° B

| 44 45 43 41 47 49 46 50 B
i o000 ® o oooo":
T M lpoe® M °°o°°°°°°°0 oooo°°°°o° I B

36 31 39 38 32 40 34 35
: ® © & e& 65‘9:
] ooggts °°<9 0000 o © ooog °o°° o &° °°O |
oo™ booo®™ L™ oo™ Yl ™ oo’ —
| 27 28 26 25 29 21 33 37 B
i o < 000‘9 o°<9 08959& L
_MM | o™ o ooo°°°°° Eoéeo WM_
| 2 5 14 7 24 30 22 23 B
. o® 05 c>°606 o°°°& -
™t Tt i P Ot ™ it M -
| 17 19 4 6 11 3 1 12 B
: 08990® 000@ o°6> o°°’:
| 18 16 15 13 9 20 10 8 B
“be 000000 0000000 fp000000000® 00" |-
N I I I I Y Y I O O

0510 20 0510 20 0510 20 0510 20

Time



